Put the sentences about Mario's life in the correct order.

He graduated from university and got a job in London.

He grew up in Milan because his family moved there when he was a toddler.

He met Susan when he was 25 and they started to go out (US: date).

Mario was bom in Rome. |

Sadly, the marriage did not last very long and they got divorced in their late thities.
They broke up two years later.

They got back together in their early thirties, fell in love and decided to get married.
Two years later, in their mid-thirties, they had a baby.

When he was 18, he moved to London in order to go to university.

Now complete the sentences below with the phrases in bold:

1. Ronis not used to city life. He in the countryside.

2. After four years of study, Susan finally

3. After 5 years of arguments, the married couple finally decided to

4. Jackie met a charming young man. She almost immediately.

5. Michael's relationship didn't last very long. They after only one month.
6. Boris tried to with his ex-girlfriend. However, she wasn't interested.

7.

After two years of marriage, Robert and Claire wanted to start a family, so they decided to

8. When Paul was 18, he didn't want to work in his father's music business. So he decided to
and study engineering.




